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A well-functioning democracy requires a media
system that provides diverse sources of information
and encourages civic participation. The government
once considered the airwaves such an integral part of
our democracy that politicians decided the public(B)
should own and control them. It is time for the
public(B) to reclaim the responsibility of producing

quality media from the corporate conglomerates(A).

The first step is to break up the concentration of

media power(A). Let’s give control to a greater

number of smaller companies(B) that could

legitimately compete with a broader range of
information Also, we must create and maintain a

noncommercial public media system(B) as well as

independent alternative media(B) that exist outside

the control of transnational corporations and
advertisers(A). The rise of independent political blogs,

and that of alternative podcasts, radio networks and

television channels(B) are all examples of citizens

rising up to take back control of our media.
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1. The government once considered the airwaves such an
integral part of our democracy that politicians decided

the public should own and control them.
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2. Also, we must create and maintain a noncommercial
public media system as well as independent alternative
media that exist outside the control of transnational

corporations and advertisers.
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Vocabulary Test

. well-functioning

. democracy

. diverse

. Civic participation

. integral

.own(v)

. reclaim

. break up
9. concentration
10. legitimately
11. compete with
12. noncommercial
13. independent
14. alternative

15. transnational
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2. Also, we must create and maintain a noncommercial
public media system as well as independent alternative
media that exist outside the control of transnational

corporations and advertisers.
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With reference to the variable of intensity(B), it is

almost stating the obvious to say that bright lights or
loud sounds can attract our attention. We have all
been exposed to countless examples of commercial
advertisements that seem to be based solely upon this
premise. One unusual example of the use of intensity

in advertising contexts is the practice of time-

compressed speech(B) in radio commercials. The

experiment conducted by LaBarbera and MacLachlan
exposed people to five radio commercials that were
either normal or time-compressed on the order of
130%. These time-compressed commercials were not

“sped up” by making the tape run faster(A); that

would also increase the frequency of the auditory

signal(A), and make the announcer sound like a high-

pitched Mickey Mouse(A). Rather, the time-

compression technique involves the shortening of

pauses between words, and the reduction of the

length of vowel sounds(B). This results in a message

that runs more quickly(B), without changing the pitch

of the announcer’s voice(A). These researchers found

that the time-compressed advertisements elicited more

interest and better recall than the normal ads.

* premise: A& ** elicit: ZoJLict
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1. With reference to the variable of intensity, it is
almost stating the obvious to say that bright lights or
loud sounds can attract our attention.
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2. Rather, the time-compression technique involves the
shortening of pauses between words, and the reduction

of the length of vowel sounds.
23]2], Al7F A& 71HH2 THo] Afo] ofulio] Tk / T2]n m

olo] £4

. with reference to

. variable(n)

. intensity

. stating the obvious
. attract attention

. solely

. time-compressed 5 (MIgHE)
. on the order of . THEH(o12i ®RdolL] 2agh
9. frequency

10. auditory signal
11. high-pitched
12. shorten . EoIc}, Ttk
13. pause H&(H2ch

14. reduction

15. vowel sounds




Boox 9 o)
o o rr

|o
HU

=&
o2 “"E7]- whatz]» 71
Zaba £ A sfod, /ol

20| n}7|ot9 A XY SelLE BT

o] ohIQtek; / (Ello]Z

2] 771%) 32 Az ]

Mo nE a8

Aol ZAa2]7F 1
olgirt. / 281, A7F Y& 7L tho] Ato] oufie]

A5 pERITH /o]l B
= Dﬂ/\lxli o]ojZItt, /ol o A B A2]

I (M 45 719) QRS2 Al

LA )
Ay

lo

Pat o LEe 71ohe Bofg

of BI3hA.

wH

=2
O

o Ix
g
g

o

53

1. With reference to the variable of intensity, it is
almost stating the obvious to say that bright lights or

loud sounds can attract our attention.
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2. Rather, the time-compression technique involves the
shortening of pauses between words, and the reduction

of the length of vowel sounds.
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Historical linguists study the languages spoken
today, and from them make estimates about the
ancestral languages from which they descended.
Where possible, linguists also work from written
records on languages in earlier times. For linguistics
(as for genetics), we assume that present data give us
the remnants of earlier communities. But the
definition of “earlier community” is different in each
case. For language(B), it is assumed that each

language has one parent(B). In genetics(A) a person

has more and more ancestors(A) as one goes to earlier

generations, while a language has a single ancestor at

each stage(B). The “tree _model” of lanquages(B)

presents the range of languages descended from an
ancestor, and indicates relationships with other
languages descended from the same ancestor. Because

of the single-ancestor characteristics(B) of the

linguistic “tree model,” language gives more evidence

on path of early human migration(B) than does

genetics(A),
possibilities(B).

because it allows for  fewer
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1. Historical linguists study the languages spoken today,

and from them make estimates about the ancestral

languages from which they descended.
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2. Because of the single-ancestor characteristics of the
linguistic “tree model,” language gives more evidence on
path of early human migration than does genetics,

because it allows for fewer possibilities.
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1. Historical linguists study the languages spoken today,

and from them make estimates about the ancestral

languages from which they descended.
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2. Because of the single-ancestor characteristics of the
linguistic “tree model,” language gives more evidence on
path of early human migration than does genetics,

because it allows for fewer possibilities.
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The people who came before you invented science
because your natural way of understanding and
explaining what you experience is terrible(P). When

you have zero evidence, every assumption is

basically equal(B). You prefer to see causes rather

than effects, signals in the noise, patterns in the
randomness(P). You prefer easy-to-understand
stories, and thus turn everything in life into a
narrative(P) so that complicated problems become
easy. Scientists(B) work to remove the narrative(A),
to boil it away, leaving behind only the raw facts(B).
Those data(B) sit there, naked and exposed, so they

can be reflected upon and rearranged by each new

visitor. Scientists and laypeople will conjure up new
stories(A) using the data, and they will argue, but the
data(B) will not budge. They may not even make
sense for a hundred years or more, but thanks to the
scientific method(B), the stories(A), full of biases and

fallacies(P), will crash against the facts(B) and

recede into history.
* conjure up: ~2& AHZHeH Uit ** budge: 23 g2°Ith
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1. The people who came before you invented science
because your natural way of understanding and explaining

what you experience is terrible.

2. They may not even make sense for a hundred years or
more, but thanks to the scientific method, the stories, full
of biases and fallacies, will crash against the facts and
recede into history.
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1. The people who came before you invented science
because your natural way of understanding and explaining

what you experience is terrible.
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2. They may not even make sense for a hundred years or

more, but thanks to the scientific method, the stories, full
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Chunking(B) is vital for cognition of music. If we

had to encode it in our brains note by note(A), we’d

struggle(P) to make sense of anything more complex
than the simplest children’s songs. Of course, most
accomplished musicians can play compositions
containing many thousands of notes entirely from
memory, without a note out of place. But this

seemingly awesome accomplishment of recall is made

possible by remembering the musical process(B), not

the individual notes as such(A). If you ask a pianist to

start a Mozart sonata from bar forty-one, she’ll
probably have to mentally replay the music from the
start until reaching that bar — the score is not simply
laid out in her mind, to be read from any arbitrary
point. It’s rather like describing how you drive to

work: you don’t reel off the names of roads(A) as an

abstract list, but have to construct your route(B) by

mentally retreading it. When musicians make a
mistake during rehearsal, they wind back to the start
of a musical phrase (‘let’s take it from the second

verse”) before restarting.
* bar: (2tE.2]) OFE] ** reel off: ~& && L3ITH

*** retread: El8ror7Tcth
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1. Chunking is vital for cognition of music. If we had to
encode it in our brains note by note, we’d struggle to
make sense of anything more complex than the simplest
children’s songs.
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2. It’s rather like describing how you drive to work: you
don’t reel off the names of roads as an abstract list, but
have to construct your route by mentally retreading it.
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1. Chunking is vital for cognition of music. If we had to
encode it in our brains note by note, we’d struggle to

make sense of anything more complex than the simplest
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2. Tt’s rather like describing how you drive to work: you
don’t reel off the names of roads as an abstract list, but

have to construct your route by mentally retreading it.
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The freedom to choose one’s identity(B) is critical,

since the sources of identity are shifting from
“belonging(A)” to “achievement(B).” Speaking for
many, Kymlicka says that “identification is more
secure, less liable to be threatened, if it does not

depend on accomplishment(B).” But this is absurd.

Achievement(B) increasingly is the basis for a

satisfying life. To be sure, some people(A) want
unconditional acceptance by their “in” group(A).

But more and more, people in rich countries achieve

many_of their identities(B). They(B) choose their

careers, friendships, allies, mixing and matching
pieces and styles. Even their ethnic, racial and

national affiliations are forged in various ways(B),

despite the fact that a person’s self-image depends
partly on how he’s viewed by others. Indeed, the

ability to make one’s own self(B) is the essence of

freedom. A good society recognizes and does not pit
roots and wings against one another. If roots(A) are
the necessary condition for happiness, then wings(B)
are the sufficient condition. A good life is not

possible without both.
* affiliation: 24, 71, 48] ** forge: F+5lct
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1. The freedom to choose one’s identity is critical, since
the sources of identity are shifting from “belonging” to
“achievement.”
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2. If roots are the necessary condition for happiness,
then wings are the sufficient condition. A good life is not

possible without both.
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Vocabulary Test

. identity

. critical

. shift(v)

. identification

. secure(a)

. liable to V

. absurd

. (un)conditional
9. ally
10. match(v) . oj2ea|ct JAA]7ICH
11. ethnic . DZ9]
12. depend on . ~of] =2iQict
13. one another

14. necessary condition

15. sufficient condition
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1. The freedom to choose one’s identity is critical, since
the sources of identity are shifting from “belonging” to

“achievement.”
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2. If roots are the necessary condition for happiness,
then wings are the sufficient condition. A good life is not

possible without both.
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The obvious problems being caused by economic
growth have not been ignored by academics: they

were noticed by some in the economics profession,

who then attempted to incorporate these concerns

into their discipline(S). This led to the development

of environmental economics(S), and also the related

study of natural-resource economics. Conventional
economics(A) considers environmental impact to be
an ‘externality(A)’, something outside its concern.

Environmental economists(B) were keen to bring

these negative impacts back within the discipline.
However, they(B — A) still approached the subject

in a scientific and measurement-based way(A), for

example, using shadow pricing(A) to measure how

much people were concerned about noise pollution or
the loss of habitat. In other words, the way in which

economics _traditionally marginalizes or _ignores

something that cannot be priced(A) was still adhered

to, but the response was to attempt to evaluate in

some way aspects of life(B) which economics had

ignored. Green economists(B) would consider this(A)
to be a category error(P); in other words, they(B)

believe it is important to accept that some aspects of

life have social or spiritual worth(B) that simply

cannot be measured(A).

* shadow pricing: 2% 7124
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1. In other words, the way in which economics
traditionally marginalizes or ignores something that
cannot be priced was still adhered to, but the response
was to attempt to evaluate in some way aspects of life

which economics had ignored.
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2. Green economists would consider this to be a category
error; in other words, they believe it is important to
accept that some aspects of life have social or spiritual

worth that simply cannot be measured.
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. discipline

. environmental economics

. natural-resource economics

. conventional . AEAR

. (QEEIR] ghe) o)

1w

. externality

. be keen to V . ~BHe b &)t
10. subject =-S5 ) SN LAY
11. measurement-based

12. marginalize

13. adhere to N

14. category error

15. social or spiritual worth CAPEIA E= AR 71
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1. In other words, the way in which economics
traditionally marginalizes or ignores something that
cannot be priced was still adhered to, but the response
was to attempt to evaluate in some way aspects of life
which economics had ignored.

thA] ok, AAElo] 71AS o7 & Q= o 7S HEHo 2 7}
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2. Green economists would consider this to be a category
error; in other words, they believe it is important to
accept that some aspects of life have social or spiritual

worth that simply cannot be measured.
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Vocabulary Test

. academics

. economics profession . 7AAEA
. incorporate . Zghstct

. discipline

. environmental economics

. natural-resource economics

. conventional

. (Ql=ER] ¢F2) 9fF

W

. externality
. be keen to V . ~OlE o] &3)ct
10. subject =-S5 ) SN LAY
11. measurement-based . 2730l 7]4t5t
12. marginalize . WA H7IsICH
13. adhere to N

14. category error

15. social or spiritual worth
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Scientists hope to someday establish beyond a

doubt that aging and all the nefarious things(P) that

go with it can be indefinitely postponed simply by

reducing the amount of food and calories(S) we

consume. Take note that in the prevention of

Alzheimer’s disease, maintaining an ideal weight(A)

may not be enough. Studies have shown that the risk
of Alzheimer’s disease is more closely linked to
caloric intake(B) than to weight or body mass
index(A) (BMI). This means that a junk food
junkie(B) who is blessed with a high metabolic rate
that keeps her from gaining weight may still be at a
higher risk(P) for developing a memory problem. If

we consider the logic that explains how caloric

restriction(BE A3t — S) exerts its beneficial

effects on the body and mind, this makes a lot of
sense. The amount of age-accelerating oxygen free
radicals generated from our diet is related to the
amount of calories(B) we consume, not to our
weight(A). Thus a person with a high metabolic rate

who consumes greater calories(B) may actually be

producing more harmful forms of oxygen(P) than

someone with a slower metabolic rate(A).

* nefarious: 25, AF2}SE ** oxygen free radical: E/d4kA

&Y 7 KISS Week’? D& / N1

1. This means that a junk food junkie who is blessed with
a high metabolic rate that keeps her from gaining
weight may still be at a higher risk for developing a
memory problem.
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2. Thus a person with a high metabolic rate who
consumes greater calories may actually be producing
more harmful forms of oxygen than someone with a

slower metabolic rate.
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Vocabulary Test

. beyond a doubt 1. certainly(&H413])
. aging 2. &%}
. go with something 3. ~of B3] Liert
. indefinitely . R7gte g
. consume . AB|SiTE, RIS}

. take note (of)

. prevention

. be blessed with something 8.

. metabolic rate 9.
10. keep A from Ving 10. A7t ~25}7] sttt
11. be at risk for 1.~ f1%do] Qlet
12. develop a problem 12, FA17t 2371t
13. caloric restriction 13. Z22] Algt

14. exert an effect 14, 9L Frt

15. make a sense 15, o]z]of gre}
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1. This means that a junk food junkie who is blessed with
a high metabolic rate that keeps her from gaining
weight may still be at a higher risk for developing a
memory problem.
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2. Thus a person with a high metabolic rate who
consumes greater calories may actually be producing
more harmful forms of oxygen than someone with a
slower metabolic rate.
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Vocabulary Test

. beyond a doubt . certainly(2H43])
. aging . &3}

. §o with something . ~of] T Lpert
. indefinitely L R7gte s
. consume . AB|SiTE, RIS}
. take note (of)

. prevention

. be blessed with something

. metabolic rate

10. keep A from Ving
11. be at risk for

12. develop a problem
13. caloric restriction
14. exert an effect

15. make a sense
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Research  with human runners

challenged
conventional wisdom(A) and found that the

groundreaction forces (GRFs) at the foot and the

shock transmitted up the leg and through the body

after impact with the ground varied(A) little as

runners moved from extremely compliant to
extremely hard running surfaces. As a result,
researchers gradually began to believe that runners
are subconsciously able to adjust(B) leg stiffness
prior to foot strike based on their perceptions of the
hardness or stiffness of the surface on which they
are running. This view suggests that runners create
soft legs that soak up impact forces when they are
running on very hard surfaces and stiff legs when
they are moving along on yielding terrain. As a result,
impact forces passing through the legs are
strikingly similar(B) over a wide range of running
surface types. Contrary to popular belief, running on
concrete is not more damaging(A,P) to the legs than

running on soft sand.

* compliant: WSt ** terrain: 1%

ZF 3 KISS Week'? D4 / N2

1. Research with human runners challenged
conventional wisdom and found that the groundreaction
forces (GRFs) at the foot and the shock transmitted up
the leg and through the body after impact with the ground
varied little as runners moved from extremely compliant
to extremely hard running surfaces.

2= At tigt A= AFEA F30ll o9& Al71giTt/ 22
ol LtE b 219 gk, gat nYl 37 ol3o) 28 &
8l tie] 12 MPEl= F70] A9 F2lR|R] grethes AMEE ¢
ofyfitt / ZalE Afglo] ofz ntepaabet 2| ERo)A ob% Tt
AEHo 2 FAZEZ .

AE]) challenged?t found?t BHEE] 2 g1, ©] found2] Z2oj9l
that’do] ot Zct,

AE]) that’dollA = the groundreaction forces?t the shock®] 501
2, varied”t SAto]tt, ‘transmitted ~ ground'”7} the shock2 It

23 9Jek.

2. Contrary to popular belief, running on concrete is not

more damaging to the legs than running on soft sand.
SEak 2], 232|E 9E FRle 7ol tRIE o wol &44A171

€ A2 oftt/ RER}R B 91§ P2l ZEC)

Vocabulary Test

. challenge(v) 1. olelE A7I5tct
. conventional wisdom 2. ArElY B
. groundreaction force 3.

4. vary . Ch=ch, gRiR]et
. subconsciously L ARojAlM o 2
. adjust . 27gsich, A-gstct
. stiffness AR L
. hardness

9. soak up

10. yielding

11. impact force

12. pass through

13. strikingly

14. a wide range of

15. popular belief
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2. Contrary to popular belief, running on concrete is not

more damaging to the legs than running on soft sand.
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Vocabulary Test

. challenge(v) . °12]& A7I5}ch
. conventional wisdom AR EE
. groundreaction force
- vary . Cr2t}, Z2pR|ct
. subconsciously . ZAojAlz 0 2
. adjust . 2A5)c} KLl
. stiffness AR L
. hardness

9. soak up

10. yielding

11. impact force

12. pass through

13. strikingly

14. a wide range of

15. popular belief
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In the process of selling your property, you may

hear the phrase “real property(A)” and “personal

property(B).” Real property(A) is fixed and

attached(A); personal property(B) is usually mobile
and unattached(B). Where this(A, B) is likely to

come up is in regard to items within your property.

Most refrigerators that can roll out, be unplugged,

and taken with you(B), are considered personal
property(B). If a refrigerator is somehow

permanently attached to the home(A) (such as a built-

in model), it is real property(A) and stays. When

selling a property, it is assumed that you are selling

all real property(A). Ripping things like banisters,

fireplaces, etc.(A) off their moorings and taking
them(A) with you is not only boorish behavior, it

would most likely be a violation of your sales
contract(P). Even if it is possible to remove them,

the buyer is assuming all real property(A) to be his.

Granted, anything is negotiable, but if | was a buyer
and | allowed you to do such a thing(P) at all (which
I most likely wouldn’t), | would demand significant
financial consideration off the previously negotiated
sales price, so much so that you would most likely
say, “Forget it.” As the buyer, | don’t heed you trashing
the property(A) as you leave.

* banister: 7t

** moorings: (%) AB] *** phoorish: XY !

BN #2 KISS Week8 D2 / N2

1. Ripping things like banisters, fireplaces, etc. off their
moorings and taking them with you is not only boorish
behavior, it would most likely be a violation of your sales
contract.

W E2 Sk E2 S-S 2E B2 RE Eofuo] 77t
AL | 1 G e & ot2t, / otat oo AlF 9k Zlojr,
ABE]) rip offE '~2 HlojUitk = £ollM, &2 Hiejithe Qo= Ht
7121 & 219t T2 R (7)5H] FotRAt o] 742] S& Ripping and
takingIH] o] £ 'FZFE She] 7HF e 2 Bol, Vi is(ThHr)elch

2. Even if it is possible to remove them, the buyer is
assuming all real property to be his.

1745 HH|E AASE:= 7ol 7HestEztE, / AuiRts BE B
AHE ZH4le] Aozt 7hgiet,

AE]) 'hise AQEALZ 'J0] 7oz SHAMETE mine, yours,
hers, theirs: L12] 71, 2] 7, J140] 71 J59] 7.

Vocabulary Test

. real property

. personal property
. mobile(a)

. come up
.inregard to N . ~of Z5t (about)
.roll out . 23A Aict

. somehow . o187 s EA
.rip A off B . Aolld BE Eofuhict
9. violation

10. sales contract

11. granted

12. negotiable

13. significant

14. consideration

15. trash(v)
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1. Ripping things like banisters, fireplaces, etc. off their
moorings and taking them with you is not only boorish
behavior, it would most likely be a violation of your sales
contract.
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2. Even if it is possible to remove them, the buyer is
assuming all real property to be his.
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Vocabulary Test

. real property

. personal property
. mobile(a)

. come up
.inregard to N . ~of Z5t (about)
.roll out . 23A Aict

. somehow . o187 s EA
.rip Aoff B . AE BollA EojuliTt
9. violation

10. sales contract

11. granted

12. negotiable

13. significant

14. consideration

15. trash(v)
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One of the great risks(P) of writing is that even the

simplest of choices(P) regarding wording or

punctuation can sometimes prejudice(P) your
audience against you in ways that may seem unfair.
For example, look again at the old grammar rule
forbidding the splitting of infinitives. After decades
of telling students to never split an infinitive
(something just done in this sentence), most
composition experts now concede that a split
infinitive is not a grammar crime. Suppose you have
written a position paper trying to convince your city
council of the need to hire security personnel for the
library, and half of the council members — the
people you wish to convince — remember their
eighth-grade grammar teacher’s warning about
splitting infinitives. How will they respond when you
tell them, in your introduction, that librarians are

compelled “to always accompany(P)” visitors to the

rare book room because of the threat of vandalism?

How much of their attention have you suddenly

lost(P) because of their automatic recollection of
what is now a nonrule? It is possible, in other words,

to write correctly and still offend your readers’

notions of your language competence(P).

* infinitive: AL ** concede: Q1A5IcH

*** yandalism: (38 71&9l) =t

ZF 3 KISS Week8 D5 / N2

1. After decades of telling students to never split an
infinitive (something just done in this sentence), most
composition experts now concede that a split infinitive is
not a grammar crime.

24 ol 24X sPgsollAl Aol RAYALE 2215k] W2t W3t
Z(F= ol 2ol sgelizl), / thE Eo] 2H2 MRt 22 24
Ab7E BE zloke oS QHgict,

AE]) BAAE 2215 ohR] ke AL, 21F ol 242

7F B2 = ZAR, to'eh 'V Atololl E Y& Paks Aot o]
2 'to'@} 'split' Ato]ol] neverE Y=t o] 2o 2 oF gh=
Ct= Al 2 A 29, o] EHE correct HRIH, 'not to split' =7}
=] Zlct,

2. It is possible, in other words, to write correctly and still
offend your readers’ notions of your language
competence.
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1. punctuation
2. prejudice
3. forbid

4. split(v) . &}, Balsict
5. composition CAE A
6. position paper . AIEA

7. convince A of B . AollA] BE HEAI7IeH
8. city council 8. A12]F]

9. security personnel 9. BQl ¥

10. introduction 10. =4(#), A&

11. librarian 11, EAT ARA

12. compel 12, Zrasict, shA| gttt
13. accompany 13. &3§stet, s4batct
71, 314

14. recollection

15. language competence .ol 53
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1. After decades of telling students to never split an
infinitive (something just done in this sentence), most
composition experts now concede that a split infinitive is
not a grammar crime.

24 ol 24X sPgsollAl Aol RAYALE 2215k] W2t W3t
Z(F= ol 2ol sgelizl), / thE Eo] 2H2 MRt 22 24
Ab7E BE zloke oS QHgict,
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7t B2 = ZAAE, 'to'eh 'V Atolol] E Y] et Aotk

2 'to'@} 'split' Ato]ol] neverE Y=t o] 2o 2 oF gh=
Ct= Al 2 A 29, o] EHE correct HRIH, 'not to split' =7}
=] Zlct,

2. It is possible, in other words, to write correctly and still
offend your readers’ notions of your language
competence.
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. punctuation

. prejudice

. forbid

. split(v) . Ak, Balsict

. composition CAE A

. position paper . AIEA

.convince A of B . AollA] BE HEAI7IeH
. city council 8. A12]F]

9. security personnel 9. BQl ¥

10. introduction 10. =4(#), A&

11. librarian 11, EAT ARA

12. compel 12, Zrasict, shA| gttt

13. accompany 13. &3§stet, s4batct

71, 314

14. recollection

15. language competence .ol 53
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A trait can be said to be adaptive(A) if it is
maintained in a population by selection. We can put

the matter more precisely by saying that another

trait is nonadaptive(B), or “abnormal(B),” if it

reduces the fitness of individuals(P) that consistently

manifest it under environmental circumstances that

are usual for the species. In other words, deviant

responses in abnormal environments may not be
nonadaptive(B) — they may simply reflect
flexibility in a response that is quite adaptive(A) in
the environments ordinarily encountered by the
species. A trait can be switched from an adaptive(A)

to a nonadaptive status(B) by a simple change in the

environment. For example, the sickle-cell trait of
human beings, determined by the heterozygous state
of a single gene, is adaptive(A) under living

conditions in Africa, where it confers some degree of

resistance to falciparum malaria. In Americans of
African descent, it is nonadaptive(B), for the simple
reason that its bearers are no longer confronted by
malaria.

* sickle-cell: A4 AE (W B 259 BY]

** heterozygous: ©132] *** falciparum malaria: Gt &

&)Y 7 KISS Weekd D1 / N3

1. We can put the matter more precisely by saying that
another trait is nonadaptive, or “abnormal,” if it reduces
the fitness of individuals that consistently manifest it
under environmental circumstances that are usual for the
Species.

$2l= Hoh PesH 24 & vietE 4 Qb / E T2 3§o] B
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Al DRFAQN $HE 2 AFgollA,

M E]) that consistently manifest it under environmental
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2. A trait can be switched from an adaptive to a
nonadaptive status by a simple change in the environment.
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3. put the matter precisely

4. (ab)normal

5. fitness
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7. manifest
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9. flexibility 9.
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13. descent 13.3&, 95
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1. We can put the matter more precisely by saying that
another trait is nonadaptive, or “abnormal,” if it reduces
the fitness of individuals that consistently manifest it
under environmental circumstances that are usual for the

species.
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o P2 AF el HIHZ JE = Fubd 5 Qleh/ $79
Thegh Rske QI

T ow

Vocabulary Test

1. trait

2. (non)adaptive

3. put the matter precisely
4. (ab)normal

5. fitness

6. consistently

7. manifest

8. deviant response

9. flexibility

10. switch from Ato B
11. confer

12. resistance to N

13. descent

14. bearer

15. be confronted by

orbi.kr

G A
2=

. AclA] B u}pe}
. Bofste}, golste}

. ~oll Thak 29}, g

E
<]

’

AL, 2712}

. ~of] 2jstet




KISS Logic 57|

33 2021459537 44

The philosopher Nelson Goodman argued that we

should replace the question “What is art?”’(A) with

the question “When is art?”’(B) The same object can

function as a work of art or not, depending on how

the object is viewed(B). When an object functions as

art, it exhibits certain “symptoms” of the aesthetic.

For example, an object functioning as art is relatively

replete (full)(B), meaning that more of its physical

properties are part of its meaning and should be

attended to than when that same object is not

functioning as a work of art(A). Goodman asks us to

consider a zigzag line. Told that the line is a stock

market graph(A), all we attend to are the peaks and

dips. We could get the same information from a set
of numbers. But if this same line is part of a
drawing(B) (say, the outline of a mountain), all of

the line’s physical properties are suddenly important

and part of what the artist wants us to attend to — its
color, texture, edges, thickness, among other things.

And we cannot translate this experience(B) into a

set of numbers(A).
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1. The philosopher Nelson Goodman argued that we
should replace the question “What is art?” with the
question “When is art?”
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2 oA 2Aste7teke AR 0 2 tiAshof ghehal,

A3E]) Al &2l “AQl(what) BEH= ‘27 (when) & SAITTH= A,

2. For example, an object functioning as art is relatively
replete (full), meaning that more of its physical
properties are part of its meaning and should be
attended to than when that same object is not functioning
as a work of art.
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1. philosopher . Agkzt
2. replace A with B . A2 BE thA|sict
3. function as . ~2 7|55t
. depending on . ~o] ofabA
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. aesthetic(n)

. replete

. physical property
. attend to N . ~of| 9], 2Balc}
10. stock market
11. peak and dip
12. outline

13. edge . 71AEER], olA
14. among other things . E9], of2 RolEcte

15. translate A into B . AS BZ vjIch
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1. The philosopher Nelson Goodman argued that we
should replace the question “What is art?” with the
question “When is art?”
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2. For example, an object functioning as art is relatively
replete (full), meaning that more of its physical
properties are part of its meaning and should be
attended to than when that same object is not functioning
asa work of art.
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Heller and Eisenberg claimed that gene patenting

may cause a problem of the “tragedy of the anti-

commons” for biomedical research(P), because a

gene patent can be broad enough to cover any
commercial use of the gene and the gene product.
When people hold a resource in common, they tend
to overuse it(P) because they lack any incentive to
conserve the resource. This overuse(P) is generally

referred to as a “tragedy of the commons,” and

privatization(S) is often used to solve this problem.

However, when a scarce resource is overprivatized(P)

the result can be a “tragedy of the anti-commons.”(P)

which will result in the under-use of a resource(P)

because too many people are excluded from using

the resource. Under-use in_human gene patents(P)

was said to be pervasive, because the high licensing

fee limits any further research(P), especially when

most diseases are polygenic, meaning that multiple

genes are involved in the manifestation of a disease
and several pieces of genetic material are needed to

develop a product.

&)Y 7 KISS Weekd D4 / N2

1. However, when a scarce resource is overprivatized the
result can be a “tragedy of the anti-commons,” which will
result in the under-use of a resource because too many
people are excluded from using the resource.
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2. Under-use in human gene patents was said to be
pervasive, because the high licensing fee limits any
further research, especially when most diseases are
polygenic, meaning that multiple genes are involved in
the manifestation of a disease and several pieces of
genetic material are needed to develop a product.

A F=F E512] £52F AHE2 Rrasteha sHiict / ek
5tH 2 5] AR & oJm3t 271 A& Ags}7] whzolct/
53] thE-g2] o] thRAAMY o, / ol QIvijtt} / th4o
Rz Al o] Hhilof] fhafsta (o]l Thgh) AHIE-2 7Hdst] 9
8l o2 7He] {1 Bol Fasitt= RS,

AE]) 342F E3171 Q12 H, ol FHRE FE3] AHESIR] 2ot

MR2 0T,
= '22 83t A2 (under-use)'©] 2y,
AE]) 'especially when most diseases are polygenic' °] 522 3f
& meaning F171 ol oF B& ‘the high licensing fee limits any
further research'@} 2441 5t Al A AT,

Vocabulary Test

. patent
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. cover(V) . BFRCt, Zetsict
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10. scarce
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12. pervasive . BHdst=
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14. polygenic

15. manifestation 1]




*3B FFHY 5L

1. However, when a scarce resource is overprivatized the
result can be a “tragedy of the anti-commons,” which will
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N o eople are excluded from using the resource.
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2. Under-use in human gene patents was said to be
pervasive, because the high licensing fee limits any
further research, especially when most diseases are
polygenic, meaning that multiple genes are involved in
the manifestation of a disease and several pieces of
genetic material are needed to develop a product.
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Researchers of the Earth’s system have been
focused, appropriately, on developing a better
understanding of the wvast and interconnected
processes that create our environment, and they have
made a great deal of progress since the publication
of A Sand County Almanac, a 1949 non-fiction book
by Aldo Leopold. Although there are many problems

left to solve, knowledge about planetary life-support

systems(B) has progressed far more rapidly than
society’s willingness to use this knowledge(A). The
biggest challenge(P) facing humanity is that our

political, social, and economic systems(A) are

shortsighted(P). Long-term  planning typically

considers years or decades(A), but the global

environmental processes(B) we are now influencing

play out over centuries, millennia, or more(B). We

need to instill a sense of geologic time(B) into our

culture and our planning, to incorporate truly long-
term thinking into social and political decision
making(A). This is what “thinking like a
mountain(B)” should come to mean in the

Anthropocene. If we succeed in transforming our

culture, residents of the later Anthropocene will look
back on the early twenty-first century as a time of
human enlightenment, when people learned to truly
think like mountains by anticipating their long-

lasting and complex effects(B) on the world.
* instill: AA18] Bofydrt
** the Anthropocene: Q1-F-A|(Z] 5ol thgt Q1F2] I3 E4
o2 k& 2|4 A7)
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1. Although there are many problems left to solve,
knowledge about planetary life-support systems has
progressed far more rapidly than society’s willingness to

use this knowledge.
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2. We need to instill a sense of geologic time(B) into our
culture and our planning, to incorporate truly long-term
thinking into social and political decision making(A).
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1. Although there are many problems left to solve,
knowledge about planetary life-support systems has
progressed far more rapidly than society’s willingness to

use this knowledge.
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2. We need to instill a sense of geologic time(B) into our
culture and our planning, to incorporate truly long-term
thinking into social and political decision making(A).
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Today companies frequently require of their

employees a different level and quality of

engagement with the company(B). In earlier periods,
employees were often treated like machines(A), but

their private lives, consisting in their leisure time,

passions, _and _ beliefs, remained largely
unaffected(A). Nowadays, employees frequently

contribute more than physical labor(A); they are

required to innovate, make decisions, and work

effectively as a team(B). As a result, they no longer
leave work(A) when they go home but instead
continue _at some level nonstop(B). The fact that
workers are being asked to contribute collectively(B)

to the production of goods and services has begun to

reweave the fabric of the social, from one(A) based
in the distinction(A) between public and private

spaces to one(B) in which networks of

associations(B) and the advantages they may offer to

move ahead now function as the organizing force

in most daily interactions. As Michael Hardt and
Antonio Negri describe it, we have transitioned

from a society in which there are factories(A) to a

factory society in which the entire social performs as

a factory(B).
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1. The fact that workers are being asked to contribute
collectively(B) to the production of goods and services
has begun to reweave the fabric of the social, from
one(A) based in the distinction between public and
private spaces to one(B) in which networks of
associations and the advantages they may offer to move
ahead now function as the organizing force in most
daily interactions.
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1. The fact that workers are being asked to contribute
collectively(B) to the production of goods and services
has begun to reweave the fabric of the social, from
one(A) based in the distinction between public and
private spaces to one(B) in which networks of
associations and the advantages they may offer to move
ahead now function as the organizing force in most
daily interactions.
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Vocabulary Test

. engagement

. consist in

. unaffected

. physical labor

. ata nonstop

. collectively

. reweave

. fabric of the social

. distinction
10. association
11. move ahead 11. ¢to 2 r}o}rict
12. function as . ~2 7]55ic
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14. interaction

15. transition from Ato B
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Observations are not always undertaken with a

clear sense of what data may be relevant(A). Think,

for example, of a detective at the scene of a crime.
What small details need to be noted or perhaps
preserved for future reference? Moreover, a set of

observations may yield unanticipated information(B)

— data that does not conform to the observer’s sense

of what is relevant(A) — but information that is

nonetheless of some importance(B). Recently,

medical researchers at a large university were
studying the effect of calcium on pregnancy-related
high blood pressure. Though they observed no
significant reductions in the blood pressure of the
women in their study who took calcium, they did
notice something quite interesting and unexpected.
The women in their study who took calcium during
pregnancy had lower rates of depression than those
who took a placebo instead of calcium. As a result,
the researchers began an entirely new study, one
designed to determine the extent to which calcium
can prevent depression in pregnant women. As this
example suggests, it is important not to become too

attached to fixed notions of what may constitute

relevant observational data(A). Otherwise, we run

the risk of missing something that may turn out to

be significant(B).

* placebo: |2F({R%E)
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1. Moreover, a set of observations may vyield
unanticipated information(B) — data that does not
conform to the observer’s sense of what is relevant(A)
— but information that is nonetheless of some

importance(B).
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2. As this example suggests, it is important not to become
too attached to fixed notions of what may constitute
relevant observational data.
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. undertake . et 2k4sict
. relevant . UL, eSS
. a detective . EFA, SAL
. reference CAg, #3z
5. yield(EH) . (BIHE) Wit AJAtsiet
. unanticipated . ogskR] 28t
.conformto N . ~of] mt2c}, Batsict
. of importance 8. important
9. pregnancy-related 9. YAl 3

10, 2&

10. high blood pressure
11. the extent to which 11. 9 HE713]

12. attached to N 12, ~of] Z]z}5}

13. constitute 13. ~& o]t} F/gsict
14. run the risk of 14, ~29] 913o] Qlct

15. turn out to be 15, ~2 g5{z|ct
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2. As this example suggests, it is important not to become
too attached to fixed notions of what may constitute
relevant observational data.
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The ace in the hole for the inevitability of the end of

animal farming is the incredible inefficiency(P) of

making meat, dairy, and eggs from animals. Farmed
animals consume calories and nutrients from plants, and
they use that energy to do a lot more than produce meat,
dairy, and eggs. They have all the normal bodily
functions like breathing, movement, and growing by-
products like hoofs, organs, and hair. These processes

mean farmed animals have a caloric conversion ratio

of 10:1 or more. For every ten calories of food we feed

them, we get only about one calorie of meat in

return(P). And for every ten grams of plant-based

protein, we get at most two grams of animal-based
protein. Culinary professionals and food scientists are
increasingly cutting this waste(P) by taking the
constituents of animal products (fats, proteins, nutrients,

water) directly from plants and assembling them into

the architecture of meat(S). They can also make

cultured meat(S) like the Memphis Meats meatball,

real animal flesh made by using cell cultures to grow

meat in the same process that happens inside an

animal’s body, so it’s molecularly identical to
conventional meat. The efficiency of both these
processes(S) suggests that, in the long run, humanity

will use its technological prowess(S) to make meat,

dairy, and eggs directly without the wasteful process of
raising and killing animals, regardless of ethics. To put
it another way, a big reason we’re going to see the end

of animal farming(P) is that it doesn’t have to mean the

end of meat.
* ace in the hole: B2 271 ** culinary: 22]9]

*** tachnological prowess 7143
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1. The efficiency of both these processes suggests that, in
the long run, humanity will use its technological prowess
to make meat, dairy, and eggs directly without the wasteful
process of raising and killing animals, regardless of ethics.
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2. To put it another way, a big reason we’re going to see the
end of animal farming is that it doesn’t have to mean the end
of meat.
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. inevitability

. animal farming

. dairy

. by-product

. conversion ratio

. in return

. constituent

. assemble A into B 8.
9. architecture 9.
10. culture(cultured)
11. flesh 1.4
12. molecularly 12.
13. identical to N 13.
14. in the long run 14,

15. humanity 15.
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1. The efficiency of both these processes suggests that, in
the long run, humanity will use its technological prowess
to make meat, dairy, and eggs directly without the wasteful
process of raising and killing animals, regardless of ethics.
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People(A) tend to overestimate how harshly
others will judge them(P). This dynamic(P) may

apply to the case of help-seeking. Even a small

request can make the help-seeker feel self-conscious,
embarrassed, and guilty(P). In our research, we have
found that the anxiety(P) help-seekers experience

over how their request will come across is surprising

to potential helpers(B) who do not know what all the

fuss is about. In one study, we asked two samples of

potential helpers(B) (teaching assistants and peer

advisors) to estimate the number of students who

would seek their help(A) during a single semester.

The peer advisors overestimated by over 60%, and
the teaching assistants by 20%, the number of
students who would ask them for help. This

prediction error(P) emerged even though the peer

advisors had been students themselves the prior year,
and the majority of teaching assistants had worked as
teaching assistants before (often for the same class).

Nevertheless, their past experience as help-seekers

offered no clues in predicting others’ future help-

seeking behavior(P).

* fuss: 2T1glE 4%
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1. In our research, we have found that the anxiety help-
seekers experience over how their request will come
across is surprising to potential helpers who do not know
what all the fuss is about.
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2. Nevertheless, their past experience as help-seekers

offered no clues in predicting others’ future help-seeking

behavior.
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1. In our research, we have found that the anxiety help-
seekers experience over how their request will come
across is surprising to potential helpers who do not know
what all the fuss is about.
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2. Nevertheless, their past experience as help-seekers

offered no clues in predicting others’ future help-seeking

behavior.
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The form of street art changes to meet the

conditions of the political system. In open, pluralistic

societies(A), collectives competing for political space
often utilize all forms(A) to record their historical

memory. However, in noncompetitive, authoritarian

systems(B) where government dominates public

space(B), graffiti becomes the primary medium;

posters, wallpaintings, and murals are more risky.

Until the twilight of the Augusto Pinochet regime,

the painting of murals ceased because of the high

political ~ risks.  Leaflets supplemented the
underground graffiti. At times they were displayed
as wallposters. Themes also adapt to reflect pressing

national problems. In an authoritarian system(B),

political matters(B) take precedence over social,

cultural, and economic  questions(A). The

opposition’s push is to resolve political guestions(B)

first; their themes record a regime’s sins. In a

system(A), once the transition
guestions(B) are resolved, the street art begins to

reflect an array of pressing problems — political,

competitive

social, economic, or cultural in nature(A). These are

recorded in posters, graffiti, wallpaintings, and
murals.

* pluralistic: TFEZQI

** graffiti: 22HIE], (71 & 52] Holl 2231) YA

***mural: B34, B3}
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1. The form of street art changes to meet the conditions
of the political system. In open, pluralistic societies,
collectives competing for political space often utilize all
forms to record their historical memory.
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2. However, in noncompetitive, authoritarian systems
where government dominates public space, graffiti
becomes the primary medium; posters, wallpaintings,
and murals are more risky.
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. collective
. authoritarian
. dominate . SAIstct, 2]eistet
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 twilight
. regime
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10. underground 10. 2|5t2], B[Hz]o]] o]R]2]=
11. pressing(a) 11, 71g%t
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14. transition 14, 3t&7], 0|3}

15. an array of 15, th42]
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1. The form of street art changes to meet the conditions
of the political system. In open, pluralistic societies,
collectives competing for political space often utilize all
forms to record their historical memory.
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2. However, in noncompetitive, authoritarian systems
where government dominates public space, graffiti
becomes the primary medium; posters, wallpaintings,
and murals are more risky.
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. regime
. cease
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